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Name

Date

A Day at the Park

| slide.

| go down the slide. | go up the slide.

Jack swings.

Jack goes up in the swing. Jack goes high in the swing.

Ashley climbs.

Ashley climbs up the bars. Ashley climbs across the bars.

We run.

We run up the hill. We run down the hill.

We play.

We play all day at the park. We have fun!

1) How many people are playing in this passage?

A. one
B. two
C. three

2) What other activity might the friends do at the park?
A. play tag
B. watch TV

C. make a snack
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3) At the park, Ashley

A. swings
B. climbs
C. slides

4) This passage was probably written by

A. William, a student
B. Connie, a police officer

C. Mr. Brown, a teacher

5) The friends play at the park

A. after school
B. until it rains

C. all day long

6) Do you like the park? Why or why not? Explain your answer below.
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Answers and Explanations

1)C
Core Standard: Key Ideas and Details

In the first paragraph of the passage, the author writes, “I slide.” This lets us know that the author
is playing at the park. In addition, the author mentions “Jack” and “Ashley” in the next two parts of
the passage. If we count the author, Jack, and Ashley, this lets us know that there are three
people playing at the park. Therefore (C) is correct.

The passage does not provide information to support choices (A) and (B). Therefore they
are incorrect.

2) A
Core Standard: Integration of Knowledge

In the fourth paragraph of the passage, the author writes, “We run.” In the fifth part of the
passage, the author writes, “We play.” We know that they do these things at the park. Playing tag
is a game that involves running and playing. This lets us know that if the kids can run and play at
the park, the friends might also play tag at the park. Therefore (A) is correct.

The passage does not provide information to support choices (B) or (C). Because these
things typically take place inside, and the park is outside, we can tell that they are incorrect.

3)B
Core Standard: Key Ideas and Details

In the third paragraph of this passage, the author writes, “Ashley climbs.” This lets us know that
at the park, Ashley climbs. Therefore (B) is correct.

The passage does not provide information to support choices (A) or (C). Therefore they
are incorrect.
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4) A
Core Standard: Integration of Knowledge

In the first paragraph of this passage, the author writes, I slide. | go down the slide. | go up the
slide.” This lets us know that the person who wrote this passage is playing at the park. Since
younger people usually play at a park, we can tell that this passage was probably written by
William, a student. This means (A) is correct.

Police officers do not usually play at the park. Since they are more likely to patrol than play, we
can tell that this passage was probably not written by Connie, a police officer. Therefore (B) is
incorrect.

Teachers do not usually play at the park. They may supervise students at a park, but they do
not typically play there. This lets us know that this passage was probably not written by Mr.
Brown, a teacher. This means (C) is incorrect.

5) C
Core Standard: Key Ideas and Details

In the fifth paragraph of this passage, the author writes, “We play all day at the park.” This lets
us know that the friends play at the park all day long. Therefore (C) is correct.

The passage does not provide information to support choices (A) or (B). Therefore they
are incorrect.
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